Intermediate Level

Exercises Answers Key

Wuthering Heights

EMILY BRONTE

Multiple Choice 1

2b 3d 4b 5a

The Earnshaw Family

2 son/daughter 3 daughter/son 4 years 5 business 6 returned 7 brought 8 child 9on
10 part 11 wild 12 gypsy 13 hated 14 dead 15 more 16 angry 17 study 18 died
19 master 20 work 21 kitchen 22 education 23 learn

People in the Story

Wuthering Heights Thrushcross Grange
Joseph Edgar
Cathy Isabella
Frances
Nelly Dean
Heathcliff
Hindley

2 a Cathy married Edgar.
b Hindley married Frances.
c Heathcliff married Isabella.

3 a Hareton'’s parents were Hindley and Frances.
b Catherine’s parents were Edgar and Cathy.
c Linton’s parents were Heathcliff and Isabella.

Mr Lockwood’s Diary

2 | The housekeeper at Thrushcross Grange is called Nelly Dean.

3 | The owner of the house is Mr Heathcliff who lives four miles away.

4 | I walked to Wuthering Heights which is a dark and uncomfortable house.

5 | It snowed and | had to stay at Wuthering Heights.

6 | 30th November 1801: | talked to Mrs Dean and asked her: "Who is Heathcliff?’

7 | Mrs Dean said that old Mr Earnshaw found Heathcliff in Liverpool.

8 | However, now Heathcliff is the owner of both Wuthering Heights and Thrushcross Grange.
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Intermediate Level

Exercises Answers Key

Making Sentences

Q2

How did Hindley spend his time?

Q3

How much money had he lost?

Q4

Why did Hindley invite Heathcliff into the house?

Q5

Who fell in love with Heathcliff? / Who did Isabella fall in love with?

Q6

Why did Cathy become ill?

Q7

Who hanged Isabella’s dog?

Q8

Why was Heathcliff cruel to Isabella?

Q9

Where did Heathcliff wait while Cathy was dying?

Q10

Did Heathcliff and Isabella have a child / son?

Comprehension

A1l

He died because he drank too much.

A2

He lived for seventeen years after Cathy’s death.

A3

She was called Catherine.

A4

He left it to Catherine.

A5

He wanted him to marry Catherine.

A6

Because he didn't want Heathcliff to get his money.

A7

He paid the lawyer to stay away until Edgar died.

A8

Heathcliff's son Linton.

A9

She went to live at Wuthering Heights.

Multiple Choice 2

2b 3d 4c 5a 6b 7d 8a 9¢c 10a 11a 12c
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